FIGURE 100A
STAINLESS STEEL BALL VALVES FNW

1 PC STANDARD PORT 1000 CWP

FEATURES

* 1000 PSI CWP non-shock
150 PSI WSP

Threaded NPT ends
Blowout-proof stem
Investment cast body
Stainless steel handle
Locking lever

RTFE seats

Vented ball

Manufactured silicone-free P
Replacement locking handle kits available (1/4"-2") ! 3 ' ACCESSORIES

STANDARDS

* Design: MSS SP-110

* End Connections: ASME B1.20.1

» Seat/Shell Test: MSS SP-110

» Corrosion Resistance: NACE MRO103 and MRO175

Replacement Locking Handle Kits (1/4"-2")

TORQUE (n-LBS)
1000 i C . .
75psig | 300 psig | 1000 psig
AN Size /AP | ' !
\ ! 5Bar ! 20Bar ! 63Bar
80— 1T N T T T e TR e S e s
- AN 14,358 | 5 | 51 | 57
5 00 N\ 12 . 57 | 57 | 57
= L 3 69 i 69 | 69
5 150WSPL_ |\ 10 M4 L 126 0 126
g 40 N 14§ 150 1 173 1 218
o N 112 0 218 i 254 1 299
200 - N 1 1 1
Saturated Steam Curve \\ 2 P 334 ¢ 368 i 437
| N 212 1 517 1 564 | 679
20 0 100 200 300 400 3 ¢ 88 i 932 ¢ Me2
. 4 1 1265 1 1404 1 1703
Temperature (°F) . - X
For actuator sizing, a safety factor of minimum 30% is recommended.
FIGURE NUMBER MATRIX HANDLE KIT CODES (ORDER SEPARATELY) CV & WEIGHT
FNW 100A FNW 100A Size . Cv | Wt(lbs)
Size Code Kit Type Size Code 194 10 | 015
1/4"=B 1"=G Locking Handle =LHK | 1/4"=B 38 0 10 | 025
3/8"=C 1-1/4"=H 3/8"=C 12 1 12 1 043
1/2"=D 1-1/2"=J 1/2"=D 34 1 16 | 064
3/4"=F 2"=K 3/4"=F 11 18 1 100
1"—1-1/4" = GH /4§ 36 | 152
1-1/2"=2"= JK 12 0 48 1 198
2 | 58 | 327
FNW.COM

©2021 Ferguson Enterprises, LLC 05212711961 We reserve the right to modify or improve the designs or specifications of our products at any time without notice.



FIGURE 100A
STAINLESS STEEL BALL VALVES FNW

1 PC STANDARD PORT 1000 CWP

HEX.B

DIMENSIONS (INCHES) STANDARD MATERIALS
S|ZE§ @d L H w K S B Ref. No.é Description Material SQty
114 0.20 163 1.34 2.76 M5x0.8 0.12 0.67 1 Body ASTM A351 Gr. CF8M Stainless | 1
oo L 023 4 A8 S ey Bl DR 2 EndCap | ASTMA351Gr.CF8M Stainless | 1
12 1 036 | 228 | 173 | 362 | M8x125 | 020 | 098 3 Ball § 31655 Stainless 1
34 | 049 | 240 | 181 | 362 | M8125 | 020 | 1.26 4 Seat RTFE 2
T 1059 | 289 | 201 { 453 | M10x15 | 024 | 150 5 Body Gasket* | PTFE 1
1-1/4 § 079 | 307 | 228 | 453 | M10x15 | 024 | 189 6 Stem | 31655 Stainless 1
/2§ 098 | 335 | 260 | 500 {M12x175{ 031 | 2.09 7 Thsi Wesier PTFE 1
2 1126 i 402 | 283 | 500 {M12x175i 031 | 260 8 Stem Packing | PTFE 1
9 Gland 304SS Stainless 2
10 Stem Washer 304SS Stainless 1
1 StemNut | ASTM A194-8 Stainless 1
12| HandleSleeve Vinyl Plastic 1
13 | Locking Handle 304SS Stainless 1

*1-1/4"=2" only, gasket is integral to seat-1 on smaller sizes.
FNW.COM

©2021 Ferguson Enterprises, LLC 05212711961 We reserve the right to modify or improve the designs or specifications of our products at any time without notice.



